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8.2

tt A spray Canis used until it isemptyexcept
for

thepropellantgas which has apressure of
1344 Torr at 23 C If the can is thrown into
a fire 5 4752 what will be thepressure
in the hot can

This sounds like a changingconditionsproblem
and it is Use combinedgas Law to solve Po
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28 what is the temperature of an 11.2 L sample
of Carbon Monoxide Co at 744 tour if it occupies
13.3 L at 55 C

This is another changing conditionsproblem
Poorlyworded
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3D A Weather balloon contains 8.00molesof Helium
at apressure of o 992 atm and a temperatureof
25 C at ground level What is the volume of the
balloon under these conditions
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33 Howmanymoles ofgaseous boron trifluoride BES
are contained in a 4.3410 L bulb at 788.0k
if thepressure is 1.220 Atm HowmanygramsBFz
Standard py nRT
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34 Iodine Iz is a solid at room temperature but
Sublimes Converts from solid to gas when warmed
what is the temperature in a 73mL Bulb that
Contains 0 292 g of Iz vapor at a pressure of
0.462 atm

straight PV n RT problem
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36 A high altitude balloon is filled with 1.41 104 L
of hydrogen at a temperatureof 21 C and a

pressure of 745 torr what is the volume of
the balloon at a height of 20km where the

temperature is 48 C and the pressure is
63 I torn

d changingconditionsproblem
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39 A 20.0L CylinderContaining It 34 Kg of butane
Catto was opened to the atmosphere Calculate
the mass of the gasremaining in the cylinderif it were opened and the gasescaped until the
pressure in the cylinder was equal to the
atmosphericpressure 0.983 atm and temperature
of 27 C It
Straight The NRT Q eee1 I tep 0.983 atm
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4 5 A balloon with a volume of 100.21 L at 21 C and
0.981 atm is released and justbarely clears the top
of MountCrumpet in British Columbia If the
final volume of the balloon is 144.53L at a

temperature of 5.24 C what is thepressure
experienced by the balloon as it clears Mount
Crumpet
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8.3
66 Caxandish prepared hydrogen in 1766 by the novel

method of passing steam through a red hotgun
barrel
4H2O t 3Fees FezOz t 4 Hzegg

a Outline the stepsnecessary to answer the
following What volume of Az at apressure of
745 torr and a temperature of Zo c Can be
preparedfrom the reaction of 15.0gH2O

b Solve the question
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69 Lime Cao is producedbyheating calciumCarbonate
Cocos carbon dioxide is the otherproduct
a Outline the steps to answer the followings
what volume of carbondioxide at 875 C and
0.966 atm is produced by the decomposition
of 1 ton 1 ooo x 103kg of CalciumCarbonate

b answer thequestion
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